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Question Number : 1 Question Id : 1874634801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following

A)
B)
©)
D)

\Sod

A)

B)

C)
D)

List-1
Chara
Algin
Microphylls
Ginkgo

The correct answer 1s

BOFH BETTHB0

Options:
A B
| i, IV 1. 101
A B
1. 11 i, 1
A B
1. IT 1.1
3.
A B
, IV v

Question Number : 2 Question Id : 1874634802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

List-1I

1) Selaginella

ii) Pyrenod

ii1) Living fossil

1v)  Water holding
substances
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. III i, IV
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Single Line Question Option : No Option Orientation : Vertical

R

List-III

Having long and dwarf branches

Sargassum
Heterosporous

Cellulose and pectins

erda -1
(g S0aw &g-me
GFOLT 000



Options:

1.

Match the following

A)
B)

O
D)

Sod

A)

B)

&)
D)

List-1
Protostele

Siphonostele

Dictyostele

Solonostele

T8 2aéSdotnim
dar -1

BES HdGw Hodfo

TeE0 (Wl gogio

Trers™d wade Jodio

FBSQE

The correct answer 1s

HOGS HEFTEB0
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B &
o T
B C
I v
B
I\ I
C
I I

RIT

1)

V)

1)

V)

List-1I

disected siphonostele with leaf gap
disected siphonostele with over lapping
leaf gaps

Xylem surrounded by phloem
Medullated protostele
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Question Number : 3 Question Id : 1874634803 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Study the following lists and choose the correct match
List-1

Tracheophytic. Archegoniate,

Embryophytic. Phanerogams

A)
B)
C)

D)

& Bod SBod H0e00D HBIY =8 Sodod.

A)

B)

C)

D)

The correct answer 1s

hae -1

Tracheophytic. Archegoniate.
Embryophytic. Cryptogams
Atracheophytic. Archegomniate.
Embryophytic. Cryptogams
Tracheophytic. Non-archegoniate,
Embryophytic, Phanerogams

T85 Smaredn by w§) Addbo

58 Ho&'&g wrn Yuyod Ingen

95 Smaredn dddn w§ A ddbo

8 Do&SS B DeOHI oo

TEs” e Grd H0oin wl) Ao
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Gl Dod ey

wd
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Options:

A

I

B

vV

D

§ G Panod oo en

List-1II
Angiosperms

B

Gymmnosperms
Algae
IV) Bryophytes

V) Ptenidophytes

ada - 11
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) Fdeoren
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Question Number : 4 Question |d : 1874634804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill up the Blanks with suitable words

The gametophytes in gymmosperms are but Cycas shows because of
presence of multiciliate male gamete. The retained multicellular female gametophyte is
also called . In this thick cuticle and will be useful to reduce water loss.
A Sunkenstomata

B. Zooidogamy

C. Endosperm

D. Dependent

o

ded 845 T8 Froothdn

DB Dzrod® Dodridacen Godd. 50 DED Ho 0. 57300
BRG°* PR JoBriduo wTuIdTcindo. wuindind (@ Sodridados
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A BE28S dEsoBo

B. zranddd
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Options:

D.B, C.A
l.

B. € DA

2.

; B, D, A C



D AC.'B
4.

Question Number : 5 Question Id : 1874634805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following

List-1 List-1I List -III
A) False septum in Ovary 1) Fig I)  Storage of food and
respiration
B) Carrot root 1) Banana ) Lengthof Stamen filament
varies
C) Sucker 111)  Mustard II) Sub aerial stem modification
D) Hypanthodium ) Absorption IV) Blastophaga
Bod T8 =2ESEH 0
e -1 e - 11 e - I
A) womdaios” 1) P D dex wddo, B
WNBEEFO
B) 598 3 1) e@dds ) 3d8Some ey Sovddy
C) St Joogen 1) esd o) &Sadhnid stod
SrTosTren
D) Sradcg'éoivo W) R IV) er@arm

The correct answer 1s
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Options:
A B c D
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A B i D

, i, I 11, ITT v, IV 21
A B i D
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A B 5 D
11 [T v, I u. 1T 1. IV

Question Number : 6 Question Id : 1874634806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following

List-1 List-1I List -ITI
A)  Acacia 1)  Node of stem I) Mericarp
B) Dichasial cyme 11) False septum ) Lamiaceae
C) Lateral out growth 111) Monochasial cyme Il) Photosynthesis
D) Areemone ) Phyllode IV) Parietal placentation

Bod T8I wEBd I

ardear -1 ader - 11 erder - 11
A)  @Edalr i) soddn Eeod I) Herodo
B) &rdoh Iygo i)  eodyssacigison M) erHadd
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The correct answer 1s
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Options:
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. . I 1. IT 1. IIT 1. IV
A B e D
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Question Number : 7 Question Id : 1874634807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct statement/s

A
B.
5

Options:
| AB

2

3

In majority of algae formation of zygote occurs in female plant
Cladophora produces identical gamets

In Bryvophytes and Pteridophytes the ratio of male gamets to female gamets will be
several thousands

In Mangroves seeds germinate while in mother plant to increase environmental stress

TS SOGE drgpg/en ool
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Question Number : 8 Question Id : 1874634808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill up the blanks with suitable words

The ability of the pistil to recognise pollen is dependent on components and
guide the entry of pollentube. This study leads to help in getting
even in
A Chemicals
Plant breeders

B
C. hybnds

D. Incompatible pollination
E.

Synergids

ool H060S dTed Foothdn
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Question Number : 9 Question Id : 1874634809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Unlike coconut, groundmut consume endosperm completely during embryo
development

Reason (R):  Though the embryogeny is similar in groundnut and coconut. perisperm
1s seen in coconut

Ao (A): Fa0er sedom RBESA 2oTPBHE wosudd Bl From
wuadrfothEolnod
somo (R): 218 B200800 IBESHS” DoEPIHRS® FOE I8 £)8e5° D000
L0200
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) S08c® (R) 00 Sodr H8G08D Soboin (R) edd (A) S 206608 25w

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 85w (R) &0 Bodr 506050 50 (R) u3b (A) § 565308 DS 520

L-2

(A) is true but (R) 1s false
(A) 5063858 52 (R) 2663886 5
3 = =

(A) is false but (R) is true
(A) 28358 s 570 (R) 205058

Question Number : 10 Question Id : 1874634810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the wrong statement :

A, Inhydrophilly the pollengrains are covered by mucilagenous layer and i water hyacinth
pollination takes place by insects

B. Nector and pollen are the rewards for amimals in pollination but not in Yircca and
Amorphophallus

C. Autogamy can be prevented by herkogamy and cliestogamous flowers
D. Wind pollinated flowers will have multi ovule condition for more seed production

Bod IS 0TI FTrgpgen o
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Question Number : 11 Question Id : 1874634811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct combination

List-1 List-1I List-II1
A) Raceme 1)  Cup shapped thallamus I)  Derris indica
B) Mathematical model i1) Codes II) Use of computers
C) Trimerous 111) Species plantarum OI) Artificial System
D) Historia plantarum iv) Capsule IV)  Allium
w0 wond 28k Bhodidn

ardar - 1 arde -11 e - 11
A) «@dgd JILRITE00 1) 0ked Jaydto I) &0 zods
B) #AdgTy dgdoen i1) Hossren ) Soigrgisben

G adariotidy

C) Beriicingo i) Rl Dolrdas ) &y HS085e
D) S@ddir Jolrda w) HodE IV) edaou

The correct answer 1s

DOGS DECT SN

Options:

IA.D

B.D

o]
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Question Number : 12 Question Id : 1874634812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Cis and Trans faces of the golgi associated with glyco proteins and glyco
lipids
Reason(R):  Golgi apparaus is in close association with rough Endoplasmic reticulum

IS0 (A): O Hodchw (Era) Soogren Ho mndsdo ﬁﬁ@‘@éﬁ@ A8O0G0E" Sowodo
éﬁ@u@u&
oo (R): ™Y H08J0 Kooy wodfiBSgarudng SiY dowodo §dHotnod

&

Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) 8osn (R) o0 Todr $8505D Sobain (R) @3b (A) & 5066308 JiSde

Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) 0851 (R) en Sodor 5663050 570 (R) @386 (A) & 206385 S8 5

(A) 1s true but (R) 1s false
(A) 2063056 =2 (R) 2053088 =

(A) 1s false but (R) 1s true
(A) 5653056 % 59 (R) 5638

Question Number : 13 Question Id : 1874634813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct combination

List-1 List-1I List-IIT
A) Radial spikes 1)  Sealing of DNA I) Axoneme
B) H, Histone i1)  Positive charge histone II) Lies outside of core
C) Negativelycharged DNA 111) Linkers III) DNA package
D) Nucleolus 1v) No membrane IV) 1-RNA synthesis
w0 wad add ot
e -1 e -11 erdee - 111
A) Fgrgarses i) DNA & 88508 D w805
B) H; >@ i) SordE edfdnie II) §% JIeodemr ¢od
TS
C) w0 i) Do) ) DNAedSosom
wadorio DNA b wd
D) Bosrodsn Iv) &8 Soddn IV) 1-RNADGEGe

The correct answer 1s
SOGE DSt

Options:
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B
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Question Number : 14 Question Id : 1874634814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct statements
A Acid soluble fractions have more than one thousand daltons
Common acid used in the living cell compound analysis 1s Hydrochloric acid

Number of carbons 1 Arachidonic acid 1s 20

o nw

Serine is the hydoxy methyl group amino acid

P0G d J“ggagfuéﬁa Moot

i
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The correct answer 1s

DOFH BETTHB0

Options:
A.B
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Question Number : 15 Question Id : 1874634815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find the wrong statement

A Polymers of polysaccharides. fats and proteins are synthesised from monomers by
ionic bonding

to

Molecules with polarheads and hydrophobic tails are present in cell membrane
C. Left end of protemn chain is N-terminal end
D. Right and Left handed helices are observed in protein

P05 Srgmgoas Mhbodonw
A >OTyposon, [_3}&3@ oot FYge FOSY éug”’gm@" edrds oo oo
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The correct answer 1s

SO HEPETHBR
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i AB
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Question Number : 16 Question Id : 1874634816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill up the blanks with suitable words

In Meiosis. chromosomes start which is called thus a of
chromatids. Later the nonsister chromatids will undergo leading to genetic material

e 36 wad dTed Jrdohdn

o508t JFasst Farathoen QByEaron. LAY @ & (FH5redgs
wolrdd, o PSS FTSrilE by 200 adogday
28 0.
A B - D E
Pairing Synapsis Exchange Tetrad Crossing over
2 0 Qr@dinido  $08yé B0 DA Bagds0

Correct sequence is

HBGS EB050

Options:

A->C—oaD—-5B-o>E

1.

L-2

4

AsBasDoaE-SC
BooA C D SE

A5BasC—oDSE

Question Number : 17 Question Id : 1874634817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Chromosomes are inactive and not transcribed to messanger RNA in phase

of apparent division
Reason (R) Cells remains metabolically active but no longer divide in quiescent stage
Lo (A): Syigardtn Jgfad d¥oboth FooEiBwen Edrdfomods oo

RNA &0 $rm edSpssn doid
&m0 (R): Tod&Eohoth 258ddurr Seren (Boird)Eom Gotrow, 57 JPad
s Tt

e,



Options:

Both (A) and (R) are true. and (R) is the correct explanation of (A)

(A) 8% (R) ©0 Bodr HOGHHD $o80%0 (R) w38 (A) & 98338 S8
1.

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) S08asw (R) &0 Bodr H8508d 570 (R) @3b (A) § 503308 Jide 57

L-2

(A) 1s true but (R) 1s false
(A) 303088 52 (R) 5653058 s

(A) 1s false but (R) 1s true
(A) 265086 52 572 (R) S050H&
4

Question Number : 18 Question Id : 1874634818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sclerenchyma gives mechanical support in

S)@Eeeroo D38 odro|BE BFTR) U0
Options:
Seed coat of Legume. Fruit pulp of Guava. Leaf of Tea

Birgaoe Hagdoren, lodore e, Bodrdo Jgo
..

Seed coat of Sapota. Leaf of Guava. Pulp of Legume

DFr DagSorw, i Higo, Birg dure ey

Seed coat of Guava. Leaf of Legumes Fruit pulp of Tea

o Dagdoren, Birg dEtw, Boird Jore Hep

Leaf of Pear. Seed coat of guava. Pulp of Legumes

Db Higo, 3 De Edaren, Sibgae deore Ky

Question Number : 19 Question Id : 1874634819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Epidermal hairs of shoot system

I Unicellular or Multicellular

I.  Multicellular. branched or unbranched
. Secretary in function

IV.  Absorbs water

V. Prevent transpiratory water loss

©508 Sg5HSR eSS E B Ten

1. JDEfpoing ST advimcing

I a5vincnd, Fycdnd B8 Todrdo
M ©203 28

IV. 82 Faothdo

Vo ardBiE 38 $33) darBohiss

Options:
: LIV

LOLV

L-2

5 OILIV

LIVV
4.

Question Number : 20 Question Id : 1874634820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Plants which show given characters respectively
A, Long petiolated leaves. Rooted hydrophytes with floating leaves
Succulent roots. water in the form of mucilage

Submerged and not rooted hydrophyte

o N W

Grows 1n saline soils, respiratory roots

ol ofmrods Uord oo o SCIdm
A D838 B Syoeren $0n, 3o Sg5P EOn D8P BB HEen Ko S Ingew
B. &3¢0 5%@ 580, G 2bE SrHod® Jog T InE),
C. &rom 8" Sudh, T Godiod 4ol 8 g,
D. iy wdor &J) I Dhibdr, 7o 3k 0056
Options:
Nvmphaea, Salvinia, Tvpha, Vanda

DoPOIr, Fgdalr, D, Tom"

Victoria regia, Asparagus, Ulricularia, Rhizophora

DEOLr Jaalr, es5)Tiw, am{ﬁsﬁgﬁﬁaiﬁ, Be&'Proe

Sagittaria, Pistia, Hvdrilla, Vallisneria
Fadiocsr, Halr, rBer, TOS Joaklr

Victoria regia, Asparagus, Salvinia, Rhizophora

DE0ar Saalr, @&)\ow, FOpddir, Ja o

Question Number : 21 Question Id : 1874634821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct statements

A Porins allow molecules of small proteins present in membrane of Mitochondria.
Chloroplast and bacteria

B.  When a living cell kept in hypertonic solution. the water potential is equal fo solute
potential

C. Carrier proteins will allow all substances across the membrane where as pumps
transport large molecules in a passive method

<

Bulk flow can be achieved through diffusion

o

ﬂ@:r‘f} T febodod

i

D groGair, £85I, wﬁ%ﬂo&r Eondoo o I vddd Y e @“éﬁg‘é
Rodrerds @ododdran

B. &gdem €580 0E mEd fo Td00sS” Godddyd Q8 FE) B0 |TDS ¥57)08,
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D. 3dwrd @ardrden 880 S80S adibdo
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The correct answer is
(SSISSRVERS IS LA INSY
Options:
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B.C

Question Number : 22 Question Id : 1874634822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct combination

List-1
A) Mo
B) Amudes

C) Hydroponics

1)

i)

iii)

)

D) Pseudomonas

20 wond 28 Lot
adar -1

A) Mo

B) o&en
C) TR

D) &dordtd3rae
The correct answer 1s

DOGE BETTHB0

Options:

A B

A.C

]

D

B.D

4.

Question Number : 23 Question Id : 1874634823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

1)

i)

iii)

v)

List-1I

Delay in flowering

Contain more Nitrogen

Commercial Production
of vegetables

Demitrification

Ty

Dae - 11

4

@&

INDY BOLGOT
Ao

QEYS Fged 5O/
Sromolon aredegal
= 8\8

DD BEG

Single Line Question Option : No Option Orientation : Vertical

g8

I)

=

V)

List - III
And transported through
Xylem

Whiptail in Cauliflower

Seedless Cucumber

Reduced to N,

e - 11

TTTe o Gareae

TO5568° TSI
&S Bird SHTa

Ogam Eoildoo



Arrange the sequences in enzyme action

A Product releases and free enzyme again binds to another substrate molecule
Enzyme to alter its shape

Substrate binds to active site of the enzyme

Fits in to the active site

sl g el

Formation of enzyme product complex

Qo0 Ugoiro@boS ie Eiy [ENrY) SO ebdod

Gendhew IDEBS Sogd *iaﬁgaagugm 36E e&cﬁé@ ﬁaﬁg we0HE Sendyod
QOBHW B85 PoS" Srdy Sob

wdd vago [ﬁuﬁ?%&%éﬁo@‘ wofddydod
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The correct answer is
SO0 HEPTSER
Options:

| ACDBE

A B DCE
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C.B,.D.E.A

C.D,B.E.A

Question Number : 24 Question Id : 1874634824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

First reaction in electron transport of Photosynthesis

8ty SoRrdgod Juge dorerd” =00 TodaBndd Wiy

Options:



Photosystem IT Chl a absorb light of 680 nm and transport e to cytochrome

5708 $g5% II Chl a 680 nm 5708 §%00 €3 P E 80 Sarer Baado

Photosystem I Chl a absorb light of 700 nm and transport €~ to pheophytin
5708 Hgig I Chl a 700 nm 57e& 0D €30 HAFRPEIK darer Babdoo

-2

Photosystem II Chl a absorb light of 680 nm and excite e~ from atomic nucleus to
farther orbat

5708 $55% I Chla 680 nm 5708 0D G682 ek HESraBoEissn ool

Srbom ﬁr“;ﬂ ééﬂg@*ﬁ 5&{3&.3

Photo system I Chl a absorb light of 700 nm and transport e~ to cytochrome

508 Bgsg I Chl a 700 nm 5708 TFaod ek UTIE 0B Sarer Dodod

Question Number : 25 Question Id : 1874634825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct statement

A Difference between C4 and CAM pathway 1s the CO, fixation and Calvin cycle are
separated in space and time respectively

B. Aldolase combines two 3-carbon compounds as well as one 4-carbon and one
7-carbon compound

C. Based on the labelled carbon studies CO, fixation products were identitied
D. Stroma lamella and Grana lamella are identical in the distribution of the photosystems

w0GLa argmgoy Mbodiod

A CRngod Hddds CAM 3w & CO, 5N, 590 Soo0 %‘ﬂhuﬂ:ow LlsTevtl
sroddomr 38 Jonnd wodran

B. ©¢08 oddb Sol 3568 ﬁﬁ*ﬁ;ﬂﬁﬁ Fén w8 4-57G)% So8din 7578y HTrgrob
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The correct answer 1s

HOGH BETTHS0

Options:
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; B€
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B.D

Question Number : 26 Question Id : 1874634826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct statement

A Reduced ubiquinone is oxidized with transfer of electrons to cytochrome C via
complex III

B. Intermediates in the respiratory pathway are not utilized for synthesis of other
compounds

C.  Fatty acid will broken down to acetyl CoA before entering the respiratory pathway

D. The energy released by oxidation in respiration 1s not used directly

P0G argmger Mbodod
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The correct answer 1s
2OTH BETTHB0
Options:
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Identify the wrong statements in the following

A Winter varieties when planted in spring normally comes to tlower before growing
season

B. Inshort day plants above critical photoperiod flowering will be initiated

@

Kinetin has specific effect on cytokinesis which is a modified purine

D. Auxins are used as herbicides
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The correct answer 1s
HOG0H BEFTBB0

Options:

1. A.B

B.C
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Question Number : 28 Question Id : 1874634828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill up blanks with suitable words

In a graph of length of organ against time. which 1s a typical and expressed as
However. in a graph of growth against time will appear with expression
of . Where 15 base of natural logorithm and also 't' as

e 3050 SOGS STed Frdothidwn
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Correct sequence 1s
whEoIm Stn

Options:

B.C.AB.E.F
I

ABCDEF

2.

C.B.A.D.FE
3

AREERCT
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Question Number : 29 Question Id : 1874634829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following

List-1 List-1II List-III
A) Discoveryof DNA 1) Transforming I) Conjugation
as genetic material principle
B) Clwomatium i1) Derive energy from ) Obtain carbon from
oxidation of mmorganic atmosphere CO,
substance
C) Conservative 111) Capture light energy II) S. pneumoniae
process
D) Beggiotoa 1v) Donorretammacopyof IV) Obtain carbon from CO,

genetic material

808 T 2SHHHIN

erda -1 erde -11 rdae - I
A) DNAzd dorgorr 1) a=dog $038S I) Hoodnifyswn
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£ty dorerdo
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D) Zadrdér V) ord el 280ghayg IV) CO;&od s
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SodoFotnod

The correct answer 1s

HOF0H BETTHS0

Options:
A B C D

' i1, III 9 | i, IT v, IV
A B C D

1. IIT i1, IT v, I i IV



A B C D

' o 1 1. I v, IIT 11, IV
A B C D
. III il | 1. I i, IV
4

Question Number : 30 Question Id : 1874634830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : DNA from Bacteriophage head passes through tail core through plasma
membrane and enters bacterial cell

Reason (R):  Plasma membrane of the host cell gets dissolved due to lysozyme and
releases the new virions

Ao (A): wﬁ%ﬂdﬁ? & DNA dogriio ool &8 Sody erio axoe, Jramdisio
0 ireddy ergbohive S0t D08
somo (R): ©w8Fow ndrdo BB To° S0hotad 58 Gd 8 woud Joohaws
Jinde wHa&on
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) S0csn (R) oo Bodr H0@0N5D Hobadn (R) o386 (A) 5o H653085 e

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 58050 (R) o0 Bodr $65050 2 (R) w38 (A) § H86085 56w 5

(A) 1s correct but (R) 1s not correct

(A) 586258 B2 (R) $050S8 5
3

(A) 1s not correct but (R) 1s correct

(A) 588058 =& 59 (R) S05058
4,

Question Number : 31 Question Id : 1874634831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the wrong statement.
A A single gene product may produce more than one effect thus it relates to pleiotropy
B. Dominance is an autonomous feature of a gene or the product

C. The frequency of recombination between gene pairs on the same chromosome as a
measure of distance between those genes

D. Breeder cannot select the mutations of the desirable types as it has less variability
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The correct answer 1s
HOFS BETT B0

Options:
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B,C

2.

AD
3.
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Question Number : 32 Question Id : 1874634832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Choose the correct statement
A DNA is chemically more reactive and structurally stable compared to RNA
B. Catalytic RNA is known as Ribozymes

C. DNA can directly code for the synthesis of protein. where as RNA dependent on DNA
for protein synthesis
D. Presence of 5-methyl uracil in the DNA also confers stability

P0G argpgor Mbodod

A DNAGSchgom J858 siorgeed 68 dommebary RNA ST @bl ?{3‘5‘3_'3;21 EQJotwod
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The correct answer 1s
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Options:

| B.D

B.C
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4

Question Number : 33 Question Id : 1874634833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : During transcription both the strands of DNA are copied

Reason (R):  If both strands act as template DNA would code for RNA molecule with
different sequences

;‘{J%ﬁ'u (A): wodpddnag® DNA &°0 Body ben Eﬁﬁ%& bdﬂ)&}@m
580 (R): DNA &°0 3ot dFiben Sorddosem g0y RNA emoo s’ S
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Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) Bosw (R) &0 Todr $050850 Hobain (R) @dd (A) S 506308 58w

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 58050 (R) o0 Bodr $66050 50 (R) &30 (A) & $008 D360 570

L2

(A) 1s correct but (R) 1s not correct

(A) 505058 2 (R) 505056 56
3

(A) 1s not correct but (R) 1s correct

(A) 506058 5% 5% (R) S0@058

Question Number : 34 Question Id : 1874634834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following

List-I List-1I List -ITI
A) Tailing 1)  28s. 18s. 5.8s I)  Transported out of
nucleus
B) r1r-RNA 1)  Addition of methyl 1) 3'end
guanosine triphosphate
C) Caping 1) m-RNA II) Transcribes by RNA
polymerase
D) Processed 1v) Addition of Adenylate V) 5 end of hn RNA
hn RNA Residue

Bod Trdd 28Dt

D -1 edar - 11 e - I
A) BOOA i)  28s. 18s, 5.8s ) Zoto $00 AWonH
B) r-RNA i) 2B mSDS m 33583
@&*ﬂgéﬁ ﬁéﬁ}méhu
C) shof ii1) m-RNA ) RNA FH0E oo
008w S50
D) hnRNA V) w3388 wdire IV) hnRNA &y, 58 &%
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The correct answer 1s

DOFH BETTEE0

Options:
A B C D

| v, IT 1. 11 i, IV i1, I
A B & D

. II i, IV 11, IIT 1.1



A B & D
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Question Number : 35 Question Id : 1874634835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find out the series of genes in the transcription unit of the following statements
I  Located towards 3 end of the structural gene

II. Flanked by promoter and terminator

M. Located towards 3’ end of the coding strand

S0 B md Rarwod® & Bod TEPLO TGT” ﬂ&gf}d}ﬁwr‘fﬂ o800k
L NoTE 2:3%’):;5:’3 08, 3 &5 3 twotaod

I &35 adkh Y PIrds, BoRLE wotraw

M %0869 P 3 £ ok

Options:
Coding strand. Template strand. Structural gene

HOBEY) DG, SordHos . QTE 25355

Promoter. Structural gene. Terminator

B3, Vo adogd). §oRed

Termunator. Coding strand. Structural gene

Eﬂéﬁ‘éaﬁ HOBSY G, QT 2053

Terminator. Structural gene. Promoter

Efﬁé)ﬁ&:ﬁ WOTE 20GY), RS

Question Number : 36 Question Id : 1874634836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find the wrong statements

A Tocut DNA with restriction enzyme it needs to be pure form. free from RNA. Protein.
Polysaccharides and lipids

B. RNA can be removed by protease enzyme

9

DNA separated as suspension can be removed by spooling

D. DNA can be precipited by adding warm ethanol

205 Srgmgen Mo
A DNA & DRES QoBdns' Fooddsyds ©b adS RNA, (@83, FdTaddon
$0cin OLdy Buom SHeuhod 288" &omd
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The correct answer 1s
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Options:
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Question Number : 37 Question Id : 1874634837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct statements
A Early detection of pathogen presence can be done by PCR

B. Biochemical products produced by bacteria are inferior to products produced in
transgenic plants

C.  Validity of the GM Research will be controlled by Genetic Engineering Approval
Committee

D. Use of bio resources by multinational companies with proper authorization is not
possible

?JU@JE»’) TEHEO0 (o owdadon

A Tgh oforen E5568500E PCR oo o0 Moy
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The correct answer 1s
OGN DT ENN

Options:
1 B.C
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Arrange the steps to be followed in breeding techniques
A, Creating the plants as pure lines
B. Progeny of the hybrids to be tested for the homozygosity for generations

C.  Evaluation by growing in research field. farmer field and then for three growing seasons
in several locations

v

Evaluation with best available local crop cultivars

E. Pollen grain of desirable male plant to be collected and placed on the stigma of the
selected female plant

F.  Effective exploitation of natural genes available in the population
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Match the following

List-1 List-1I List - III
A) Hairy leaves 1)  Animal manure and L  Potato
sewage
B) Spirulina i1) Bacterial Blight II. Jassids in cotton
C) Apical meristem 11) Resistance to pests M. Cowpea
D) Pusakomal 1v) Disease Resistance IV.  Rich with protein

1Bod SPEQ 285000
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The correct answer 1s

HOFS DBETTHB0

Options:
A B C D

| LI HIT IV v
A B C D

, i wIV il if, 1T
A B C D

’ I 11, IT v, IV 11, I
A B C D

. 11, IT 1. IV ., I 11, ITT
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Match the following

A)
B)
©)

D)

Sob

A)

B)
@)

D)

The correct answer 1s

SO DEPT S50

List -1
Wine
Flocs
Ethanol

Activated sludge
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Options:
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List-1I
1)  Useful aerobic microbes
i1)  Without distillation
11) Brewer’s yeast
1v) Reduced BOD
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Zoology

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1874634841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Species 1s an evolutionary unit

Reason(R):  Indrviduals of a species have similar structure and functional characteristics
Ao (A): T8 ol D0 [Hareo

sdeo (R): a8 @8 2P o Pord)E, Boird)f ofarod” FErdgd §00 Gotron
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 58050 (R) &0 Bokr $0GHD 500050 (R) w38 (A) & 0308 IS8

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) S8osn (R) &0 Sodr 380030 570 (R) 038 (A) 8 S000d Qe 570

L-2

(A) 1s correct but (R) is not correct

| (A) 5050 50 (R) $0@50 50

(A) 1s not correct but (R) 1s correct

, (A) 20880 5t 50 (R) $0G050

Question Number : 42 Question Id : 1874634842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Mammary glands are apocrine glands

Reason(R): In apocrine glands. the entire gland cell disintegrates to discharge the
contents

Ao (A): Esothen IFES (ogoen

sdmo (R): JFE Hohes® gmo Indo Y FHo Tob TSR |Faod Jossois
Qbse Bld

Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) S06050 (R) &0 Bodkr H$OGHD 58050 (R) b (A) S $6¢30% DS
l.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 28c5® (R) en Sodr 206080 520 (R) ©dd (A) § 206508 Jide 57

L-2

(A) 1s correct but (R) 1s not correct

(A) 565358 52 (R) $053058 59
3.

(A) 1s not correct but (R) 1s correct

(A) 5053056 % 59 (R) 0G5
4.

Question Number : 43 Question Id : 1874634843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements

I) Stereocilia are long. non motile cilia like processes and are found in epididymis.
internal ear etc.

II) Os cordis 1s a cartilage bone
II) Adjacent myocardial cells are joined by gap junctions

IV) Nissil bodies represent the smooth endoplasmic reticulum
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) 208rLORow FEIHT, SoSErEFes VST Golron. 1 JDEFW, STHO
B JEBS TE Sotraw

) o5 g5 Sybey Isws

) 8 @8, PIrsPod eren 08 Jofhe O §0dd Golrown

V)

QS Senden Db wodfSEsy FosR) Serddow

Identify the correct statements
D 8S° 998 woTen Hodod

Options:

1 LIV

IL.IT

o]

IV

L Iv

Question Number : 44 Question |d : 1874634844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following

A)
B)
C)
D)

o

A)
B)
C)
D)

List-1
Gorgonia
Trichiuris
Astacus

Lepidopleurus

The correct answer 1s

SOGS DBFT S50

Options:

A

I
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Question Number : 45 Question Id : 1874634845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Single Line Question Option : No Option Orientation : Vertical

List-1II
Crustacea
Polyplacophora

Actinozoa
Scaphopoda
Aphasmidia
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Study the following statements

I) Digestion in sponges is extra cellular

) Prmary function of flame cells in flatworms is osmoregulation
II) Clitellum is absent in unisexual annelids

IV) Dipleurula larva is considered as the ancestor of echinoderms

Bod woTen wigahso Budod
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Among the above. correct statements are
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Question Number : 46 Question Id : 1874634846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Renal portal system 1s absent in

5§, VooE 3‘35533’{3 S*hotd £Heo

Options:
Fishes and Amphibians

:.’uﬁ;*jgm‘ G SO Tr e



Cyclostomes and Fishes

wERoen, Joancew,

o

12

Reptiles and Birds

K}S&aiﬁ*m* Sfoen

Cyclostomes and Mammals

PEYPoen, §men

Question Number : 47 Question Id : 1874634847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following table

S. No. Group Characters

Examples

I Urochordata Tunicin. ventral heart with reverse

flow of blood. bisexual. tadpole larva

Daoliolum

I Cephalochordata | Solenocytes. ciliary feeding.
presence of atrium.
closed circulation without heart.

gonads with gonoducts

Branchiostoma

il Vertebrata Paired fins/limbs. ventral heart. Buifo
kidneys. hepatic portal system
Bod DB wigohdo Babos
2.00. 00 RTLT0 e S AR TeT>)
I oSS s g Lrglos, I5R) $g808 Hiod® Do SOdreo
GO Sicio, tvPoBolisTa,
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From the above. the correct combinations are
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Question Number : 48 Question Id : 1874634848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following

List-1I List-1I
A) Isogamy I) Plasmodium
B) Anisogamy I) Vorticella
C) Hologamy ) Astasia
D) Conjugation IV) Monocvystis

V)  Trichonympha

Bod T8 285880

erder -1 e - 11
A) Dddodrio ) Zagdaio
B) o350 dodrilo o) Sg%er
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The correct answer 1s
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Options:
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Question Number : 49 Question Id : 1874634849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tashkent ulcers are caused by

&ey,08 Yo gOfon Jo°F) £
Options:
Leishmania tropica

Dy doir (rosT

Leishmania donovoni

Oy dailr FHT

Trvpanosoma gambiense

(T TodaDd)

Wuchereria bancrofti

&$00alr aroEP

Question Number : 50 Question Id : 1874634850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Entamoeba histolytica is an obligate anaerobe
Reason (R): It lacks mitochondria

Dgo (A): Jodoadoer rFSdis wIto)E wardin HTHED
sdmo (R): TS T oBr Godd)
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 50050 (R) 0 Bodr S0GHHD $o0050 (R) w36 (A) o H6038 256
l.



Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(A) Sbosw (R) eo Toder 3060&0 5 (R) w3a (A) 8 204308 Jhde s
2.

(A) 1s correct but (R) 1s not correct

(A) 585058 50 (R) $6G3058 &%
3.

(A) 1s not correct but (R) is correct

(A) 5553058 59 59 (R) $0G058
4,

Question Number : 51 Question Id : 1874634851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1I
A)  Plasmodium malariae I) Malignant tertian malaria
B) Plasmodium falciparum II) Mild tertian malana
C)  Plasmodium vivax III) Quartan malaria
D) Plasmodium ovale IV) Dum dum fever

V) Benign tertian malaria

Bod T8 &S
ardar -1 e - 11

A) Foydabo DHSGD Srdfod Toche HBor

B) Fdydabo > Do

DE BT 5oBoatr

C) dy8abo I8 5X55 S80S

e

28>

D) Z&dabo ades dodo =cdo

V) 838 80chs SBdboir

The correct answer 1s

DBFS BETTHB0

Options:
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Question Number : 52 Question Id : 1874634852 Question Type: MCQ Option Shuffling: Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Read the following statements and pick up the correct one

Bod sorolh vggobso T BOGS AR Hiodod

Options:
Rhabditiform larva of Ascaris undergoes 4™ moulting in alveoli of lungs of man
&J7.00 Qg oHBFE) oo SrdPH LSS Troln BFrod® 45 AT NS0
RooeErob

Inflammation of lymph glands due to Wichereria is called lymphangitis

=T ololovby S0 FASS (Hodho s tory @y, TR0 S0aroBds wodrdo

L2

Cocaine 1is obtained by the acetylation of morphine

Sr0yRd JNBTAS Dobdo oo FENE &&)E DA

Excessive dosage of cocaine causes hallucinations

§B whE Irerdd® DAoddo Erods s imo wHdod
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Question Number : 53 Question Id : 1874634853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

These cells of corpora adiposa of cockroach store food materials

L
ol

e

08 50N AEFFSV & Sered’ GSFESTTee I Aobade o
Options:
Mycetocytes

SIAN

t5
e

Trophocytes

R g

Oenocytes

&3 2l
[ T £

Urate cells

O3F08 Eerren

Question Number : 54 Question Id : 1874634854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following regarding blood circulation in cockroach and identify I and II

/ Heart ¢ 1 || Pericardial sinus

Aorta il
1! T
Head —| Perineural sinus

THoE JE Pl Sonofodd fod wored 352000 LI ol fofodod

/ MoBd [+ 1 || Sdcirdde S
11.

DD B0 I
7 T
de —|  Heard Fdo
Options:
I-0Ostia; II - Perivisceral sinus
I- ﬁ:wg.ﬂxwm: II - ﬁfﬁﬂﬁduﬁ §ddo
.
I - Haemocoel: IT-0Ostia
I-s8850500; IT - Soergaogred
I - Perivisceral sinus: II - Ostia
I -Sorgoddor §'do; II - Soergingres
3
I-Atna: II - Perivisceral sinus
I - JE3choen; II - Sorgoddol Sddo
4.

Question Number : 55 Question Id : 1874634855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Oriented locomotor movement of an organism towards or away from light source is called

508 Arodl ediboon B8 H3808 7" dJo Sod DAGT ) & IFom DT olrd

Options:

Photokinesis

5708 M0N0

Phototropism

5708 IV

L2

Phototaxis

5706 Ui N0

Photoperiodism

508 5Uerrad

Question Number : 56 Question Id : 1874634856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Daphnia exhibits cyclomorphosis
Reason (R): It is an adaptation for Dap/inia to lead benthic life

Ao (A): Tl (@Hoe SrHIBahR BEH oD
o (R): 20 Folr G, Dok BITUE wb wErO0
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 006030 (R) &0 Dodr H00@085D obain (R) @38 (A) % 506308 5T
1.
Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) D8csw (R) ev Sodr 205050 570 (R) 038 (A) 8 305308 Jidm 5760

2



(A) 1s correct but (R) 1s not correct

| () 50g88 0 (R) $0@50 S

(A) 1s not correct but (R) 1s correct

(A) 5053056 % 5% (R) 0G5
4,

Question Number : 57 Question Id : 1874634857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1I
A) Metabolic rate I) Jordon’s rule
B) Bodysize II) Allen’srule
C)  Size of body parts II) 10 percent law
D) Energy flow IV) Van't Hoff s rule
V) Bergmamn's rule
Bod T8 2888805
o -1 ade -11
A)  S580kr e D &os Smgo
B) &% 58&rm0 I J8de@o
C) &% grmre 38800 ) 10 #go Sovdo
D) 4§ 585 IV) o859 Hrgo

The correct answer 1s
DO DT HH0

Options:
A B & D

Wk I m

A B £ D

L. I I
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Question Number : 58 Question Id : 1874634858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements

I) Camels are partial regulators or partial conformers

) Inlimnetic zone of a lake. decomposers are almost absent
1)

Ten percent law for the transfer of energy from one trophic level to the next was
proposed by Elton
IV) The natural reservoir of phosphorus is sea

V) Incase of parasitic food cham. the pyramid of number is inverted

5o woTw @LgeRNo0 Dodod

) coBeo 88 dcho@s e O FEE whirdsen

) &&SC Dodoo (9T odeo) &° Qﬂ&éﬁlrdaw TTHT™ Godd

) =8 FaE o S0l $osgd Fows ¥ KT Sowodod O Tdo WrE) N
PaFHoTd

IV) &drzome TR Daorgaiody Hiw|Eed

V) S8 ot So208008 Sogrghdnd doolan &odood
Among the above. the incorrect statements are
D o8S 05 worew Mfodod

Options:

1 v

IT. T

24
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Question Number : 59 Question Id : 1874634859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 4 individuals are died and 8 individuals are born in a laboratory population of 40 fruit
thies during time interval of 7 days. calculate the intrinsic rate of natural increase for frut
fly population per week

a8 PRrATos™ 40508 Sio sarers” 7 0wod” 4 H0g Gifar dboddd, 8 Hod
Sifen 2djouron. @ Jod Hlo =2y BuE, T VIDEL ROEYT Tn FTE
JOE?
Options:

i 0.03

0.3

0.01

0.1

Question Number : 60 Question Id : 1874634860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Left side shift of oxygen-haemoglobin dissociation curve occurs during

edHas-rIridl IArad SEdy JEDHIPRh 2rIE sEwo

Options:
Low pH. low CO,. low temperature
8895 pH, 8855 CO,, 8895 &P

High pH. low CO,. low temperature
I8 pH, 8895 CO, 88985 GFie



High pH. high CO,. low temperature
Q898 pH, 895 CO, 8898 s

Low pH. high CO,. high temperature
@898 pH, 808 CO, 2898 GLis

Question Number : 61 Question Id : 1874634861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following are the parts of human respiratory system

I) Glottis M) Trachea

IIM) External nostrils IV) Larynx

V) Nasal chambers VI) Bronchi
VII) Alveolar ducts VIII) Bronchioles

SrdS TR SgHRB Dowofond erren 5ol [T

@
) goddeco M) oosuado
) erdrgos: Sogren IV) $Scoaeds

V) o gggen VD) agdarsed
VII) aradng’d areren VIID) &g @ Sexd

Arrange them in correct sequence through which inhaled air reaches the alveoli

STERODS T Trodn Srod T8 Srord) Srddy 2 T8 $BS EXed” vdd)od

Options:
Im. V, L IV, VL, 11. VIII. VII

VI, VIL VL IL IV, L'V, IlIL
VLIV, I VI, VIIL VIL T

. V. I IV, II. VI. VIII, VII

Question Number : 62 Question Id : 1874634862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following diagram of V.S. of tooth and identify the parts I. IL. IIT and IV
Bod Rx2dS Sodo JwPHF'd Hird) edgohdo B L IL IIL IV grmren fH8otod

Options:
I I I \%
Dentine Enamel Pulpcavity  Periodontal membrane
1 BodsS SO 26 s DODrmobs S
I I I IV
Enamel Dentine Pulp cavity  Periodontal membrane
Do BoddS SEy Bordo ROBrmobS S
I II I IV
Periodontal membrane Dentine Pulp cavity Enamel
, RoGrmond 96 3otd S8y Sodrdo Do
I I I \%
Enamel Periodontal Dentine Theca
membrane
Do 2OFBraobd BotdS b5
4 s

Question Number : 63 Question Id : 1874634863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Glomerular filtrate becomes hypertonic in distal convoluted tubule of

the nephorn

Reason (R):  Indistal convoluted tubule obligatory reabsorption of water and Na™ takes
place

Ldo (A): 5E) Bdrmo GANE), drol Jod98 TES” mOE Bho wiE mEE
Doda0b

sdwo (R): Srorl 50598 TES” A oo Na'e wdsey Hied* o adibéod
Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) S0csw (R) o0 Sodr 0G50 Hodcin (R) o386 (A) & 50838 Dhdm
L.

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) D8osn (R) en Bodr $85050 570 (R) @38 (A) 8 304308 Q8 570

(A) 1s correct but (R) i1s not correct
(A) 505058 50 (R) 05058 5260
3.

(A) 1s not correct but (R) 1s correct

(A) 5083058 5% 5% (R) 56058
4

Question Number : 64 Question Id : 1874634864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following table

S.No. | Group Number of Typeof Oxygenation
chambers circulation of blood occurs in
in heart
I Pisces 2 Smgle Gills
I Amphibia 3 Single Skin. buccal cavity. lungs
I Reptilia 3 Double Lungs. skin
v Mammalia 4 Double Lungs
5o Y5 wdgoiao do0d
.90 0 BT HoBS A ISEsTet=o) 880 &Siﬁﬂf&éfﬁmu
Ao éumﬁ 880 DoB e
I Soarygen 2 JE 1558 Soodyen
I Geladadoren 3 Q¥ HHS 80, edgsudo,
088 e
I D05 aren 3 Soodic W% | 08w, W
I\ Sdoren 4 gods Wode Gralddyes

Pick up the correct combinations from the above

D TS 335 ¥oHoidy HBokod

Options:

| LIV

LI

12

II.IIT

OLIv

Question Number : 65 Question Id : 1874634865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical




Study the following statements

I) Inthe wall of veins of man elastic laminae are present on either side of tunica media
II) Angina pectoris is due to insufficient supply of blood to heart muscles

II) Juxta Glomerular cells of kidney secrete the enzyme rennin

IV) Cellophane membrane of dialyser is impermeable to micromolecules like creatinine

808 woTen wdgohdo Dabod

D S5rd90 o FESR Sogglohs s 983 &m@%ﬁé deres oo

I) 2ozs DEOFR °Gmo HoB SodTrok J§ 8500 éfdo

) SorEhodod ™ =25ir Mmivdherd e B (rennin) &3 JoBBooi PIJ 00

IV) &oirgadd’ g o o Euirdio urod g wmodo eRddgroom
€ 0t0od

Identify the incorrect statements among the above
D T8E J05Q worTen fodod

Options:

| LIL I

LI

[

LOLIV

IT. T

Question Number : 66 Question Id : 1874634866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fibrous membrane in the middle of a sarcomere 1s

Bodd noba B &Cﬁgtﬁ* &S00 Sodoind 6.1:5650

Options:



Question Number : 67 Question Id : 1874634867 Question Type: MCQ Option Shuffling: Yes Display Question Number

Single Line Question Option : No Option Orientation : Vertical

Observe the following diagram of V.S. of eye and identify the parts . II. IIT and TV

Bod addd E30) JenIFE Sbo HB200d L IL ML IV grmen ool

Options:

I
Blind spot

w0l g,

Fovea

Poair

I

Yellow spot
DY oY,

Fovea

) ol

I
Blind spot
Wo§ ok

I
Fovea

FFOOSF

i
Choroid

§€Hre0

M1
Choroid
JgEdbwo

111

Conjunctiva

Bodierd

n‘?
Comea

-§J§$&J Te]

n‘?
Comea

DHEHLOO

EI:F
Choroid

sgdEe0

:Yes



I II 111 IV

Blind spot Yellow spot Pupil Cornea

Wog g Q0 wWoE), Soldarad BDEdLwo
4. i

Question Number : 68 Question |d : 1874634868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1I
A) Diabetes insipidus I) Cretinism
B) Diabetes mellitus ) Bronze coloured scars on skin
C) Addison’s disease I) Insulin
D) Cushing’s disease IV) Buffalo hump

V) Vasopressin

Bod Tl 2SBS0

e -1 e -11
A) SdirHEBR ashadR ) [B&d=o
B) &ird80 OLS ) 6o Sothidg Sowfen
C) BIS a5l ) =2599&
D) &oaod a7gd IV) 239 Srddo

The correct answer 1s
HOGS HEFTHER

Options:
A B £ D

¥ I 0 1A%

A B G D
LA | | R I
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A B C

Vv 1 m v

A B G D

Question Number : 69 Question Id : 1874634869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements

I)  The largest endocrine gland of man secretes adrenalin

) Tyecells are involved i humoral and cell mediated immunity
II) Natural Killer cells are a type of lymphocytes

IV) T cells are involved in humoral immunity

Bod woTen wdgoiio Dokod

) SrdS 35ros’ e88 wod@Add (o8 JGTOIS PIK0E
o) Tyswoo TGS, So A0S S HATEES0S" e odrow

)
IV) TeSaren BoEs SHISEEES® FeTotron

Fas

e oSt Begren ol dé@_:c‘f} @ui)f:'@&;g

Pick up the correct statements.

D T8S® I8N wogren Hfodod

Options:
1 LII

IT. 1T

]

OoLIv

LIV

Question Number : 70 Question Id : 1874634870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Acidity of urethra of man 1s neutralised by the secretion of
SrEP0 ERE0STD wierd) O (@Ho @’&J%éﬂ@o&
Options:
Prostate gland

1 rosaiod

Cowper’s gland

_EH6 (ob

=

Semunal vesicles

DEFodren

Skene glands
0 |fogoen

Question Number : 71 Question Id : 1874634871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following

S.No. | Foetal membranes | Formedby Function
1 man
I Yolk sac Splanchnopleure Not useful for nutrition
Ir Allantois Splanchnopleure Store nitrogenous wastes
Im Ammnion Somatopleure Form placenta
I\Y Chorion Splanchnopleure Prevent dessication of embryo

Bod HPBSW woren HBodod

.50, | SrSHD Dod ARG D8
EITTg LIl
I oS STt IoEITrd Tl FEEN
I w®odo %053@25 Ngel DdTe Jewnd
€5 €330 PIrETNrd 2T oSN a)a Ddgdﬁcﬁu
A% efeplevhiin) TyoEITpd Dodo DT FLoT Wobdo

Among the above. the correct combinations are
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Options:
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Question Number : 72 Question Id : 1874634872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pick up the mismatched pair

R0 28Rddadd 2d bodod



Options:

Gonarrhoea - Neisseria
158 - Joatr
1.
Syphilis - Treponema
ol 1) - (BF Do
.
AIDS - HIV
3
Cervix cancer - Trichomonas
I - - e T T
ﬁc:q,m:i, ...x:ugm"‘gd ?5@,5 ££J§WJ.{F‘nP
4

Question Number : 73 Question Id : 1874634873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A colour blind man married a woman who is a daughter of a colour blind father and normal
homozygous mother. What are the chances of their daughters to become colour blind?

Lﬁo;udiﬁ’s So|B8, JSrdoren da‘g EDANS é&mﬁéa: )8 aé&g}uﬁéﬁ 2. % @GJ ;‘chucﬁéﬁ‘go
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Options:

| 23%

75%
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100%
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Question Number : 74 Question Id : 1874634874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Persons with O group of blood are called universal donors

Reason (R):  Their blood plasma contains both antigen A and antigen B

IR0 (A): O 88 5do So Sgfiod Fig@E SETder wolrdd
sdmo (R): 0 88 TSt H8alto A, (B8adso B Todr wolron
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 2805w (R) 00 Bodr H8508D Soboin (R) @38 (A) %o 585308 58w
L.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 8os» (R) &0 Soder 585080 579 (R) 038 (A) 8 28538 Jhde 570

~

=

(A) 1s correct but (R) 1s not correct

(A) 565158 59 (R) 0558 59
3.

(A) 1s not correct but (R) 1s correct

(A) 5003058 52 5% (R) OGS
4

Question Number : 75 Question Id : 1874634875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements

I) Karyotype of Klinefelter's syndrome 1s AA + XO

) Turner's syndrome is an example for trisomy

o) AA+ XX+ 215 chromosome is the karyotype of Down's syndrome
IV) Individual with Klinefelter's syndrome is Barr body positive

Bod wowen H8280od

I) 3533%5 RoIE'a0 g, 50Erdy AA+ X0

I “§Hd do@e BFs erTde

I) AA+XX+2135 Fardo oHid &S doE'S Sns, SOErTY

IV) 385998 do@o g8 el Tidro $0A ol

Among the above. correct statements are
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) TS5t S08 LoTen

Options:
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Question Number : 76 Question Id : 1874634876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following theories contradicts Lamark’s theory?

il AFTosrRs PETNoT wiijoddo Sdad DI
Options:
Theory of Natural Selection

o LAl T N SR
1 @585 wEodo



Germplasm theory

ﬁ)a@:ﬁg ébm;uaéu

L2

Mutation theory

ﬁe‘é’gﬁf}_ﬁnéﬁ %J&;ué‘:?u

Theory of biogenesis

2B ?b::{:oéﬁo

Question Number : 77 Question Id : 1874634877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Long neck for Giraffes 1s due to directional selection

Reason (R): It works constantly removing the individuals from one end and constantly
shifting the average value to the other end.

A3ygo (A): 2orow d FEISFTVE s°8mo BFSNSS8mo
sdmo (R): & SO0 wE wodged” dPen Bhom Fohodnd S TS Jwd

Edoer 0T wodgo DK adibéod

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 506050 (R) &0 Bodksr $OG0SD 536050 (R) 38 (A) & 030 IS8
i

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 58050 (R) &0 Bodr $66050 50 (R) o360 (A) & 50038 258 5760

5

(A) 1s correct but (R) 1s not correct
(A) 2850358 =0 (R) D0G30886 &
3.
(A) 1s not correct but (R) 1s correct

(A) 5803258 5% 59 (R) $68058
4,



Question Number : 78 Question Id : 1874634878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Glue prepared and used by the worker bees to seal the cracks in honey combs

BIWS® VGE DG THFTIE ErdSko GHB IV, DIRENOD B

i | [
Options:
Chrysalis
E@‘@ =

Propolis

FFOS

Bee Wax

) @Eﬁu

Bee Venom

5r8 &ille §08) J4 L{Tgu

Question Number : 79 Question Id : 1874634879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following
List-1 List-1I

A) Carcmoma I) Cancer of connective tissue

B) Sarcoma ) Cancer of muscular tissue

C) Leukenua II) Cancer of lymphatic system

D) Lymphoma IV) Cancer of epithelial tissues
V) Cancer of bone marrow

1Bod & &8585

e - 1 e -11

A) =SS ) Sodraf oo 55590

B) &85 ) &o&dd gware 5740

C) esddocir ) 409 S5586° 5596

D) &odrdr IV) &38s gmarore sgHb

V) Q8 Sogs® 556

The correct answer 1s
SOGLH DI HE0

Options:
A B D

M 1 I

L2
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Question Number : 80 Question Id : 1874634880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements

I)  Programmed death of cells is called apoptosis

II) p* iscalled guardian angel of cell’s genome

II) Transgenic cow Rosie produced milk containing -1 antitrypsin

IV) Nifrosamines are non carcinogenic

Bob woTen vEgoihdo Bosodk
v Peordsrnd Dl JFTToR Boladd
¢ G 2
53 i o o e e | %
I p~do Seedd’c Qg Hodsm 338 wolrd
) =2805050588 e & dos® o-l oS Gotnod

IV) 3038 g6 sdsren 529

Among the above. the incorrect statements are

2 T8S® Do B woTen HBood

Options:
ILII
1.
+ LILIH
mLIv
3
ILIL IV
4.
Physics
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1874634881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



IfR.L. C. F. v. q. I and t represent resistance. inductance. capacitance. force. velocity.
electric charge. electric current and time respectively. then which of the following will
have same dimensions?

R.L.C,F v. q. I 508050 ten 568 8%, f@déiﬁ{gu* 3ra8q), weo, Jio, QEGS

WI¥0, VGO @Irwre H0G sTOo Ll DR, 1Bod T8t a8 s Ho oo
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Options:

| ad&b

a&kc

L2

Question Number : 82 Question Id : 1874634882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
At time t = 0. a body is dropped freely from the top of a tall building and at a later time
t =T. another body 1s thrown vertically downwards with a velocity ‘v’ from the top of the
same building. The time at which the two bodies will meet is
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t=02cho 8¢ b 83 FoRow SRGIRISEIN IS ‘So::ﬁr:ﬁdrﬁ P OQ BRI D20bTdw

Sard t=TDIoho 8 05 Y™ ©d oD Sod V' Iiod’ VQILIYT (FobE

JobTrd. Sod S SendoFd Sdodibo

Options:

T| Zv—gT
| 2| v—gT

T| 3v—gT
3| 2v—gT
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T| v—gT

2| 2v—gT
3.

T| 2v—gT

3| 3v—gT
4,

Question Number : 83 Question Id : 1874634883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The speed of a projectile at its maximum height 1s —,~ times its initial speed. If the

range of a projectile 1s ‘p’ times the maxinmun height attained by it. then the value of
pis

28 (SBI58 T HOPHS S 5&, FTOSLE
KO8 ‘p’ By wod, ‘P’ Iewd

Options:

25
L33
NE)

5

Question Number : 84 Question Id : 1874634884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Three particles A. B and C simultaneously start from the origin. Particle A moves with a
velocity ‘a’ along X-axis. particle B moves with a velocity ‘b’ along Y-axis and particle C
moves with a velocity “¢” m the X-Y plane along the straight line x =y. The magnitude of ‘¢’
so that all the three particles always remain collinear 1s
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Question Number : 85 Question Id : 1874634885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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For a truck with 14 tyres. only rear 8 wheels are power driven and can produce acceleration.
These 8 wheels support half the entire load. If the coetficient of friction between road and
each tyre 1s 0.6. the maximum attainable acceleration by this truck would be

(Acceleration due to gravity = 10 ms—2)
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A soccer ball is travelling at a velocity 20 ms™! due south. At the end of its travel. it moves
with a velocity 2 ms™! due south. If the change in the linear momentum of the ball is
18 kgms! due north. then the mass of the ball is

a8 56 wod GBwo Y™ 20 ms I B0’ Pairddr, A5G Sfwo 3 2 ms IKod’
airedinoh. ol TPodb (GHgRH0S” Sy 18 kgms! &880 39 ©0B © 20d 555073
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A stationary body explodes into four identical fragments such that three of them fly off

. . . E
mutually perpendicular to each other. each with a kinetic energy TD. The total energy of

—

explosion is
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Question Number : 88 Question Id : 1874634888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Two point objects A and B each of mass 3 g and imnitially at rest are connected by massless
threads as shown in the figure. A constant force 2 N acts on the system at point P along OP.
After the point ‘O’ has moved a distance 20 cm in the direction of force. the two objects

collide and stick together. The displacement and velocity of the centre of mass of the
system immediately after collision are respectively

e.87,5,8 3 g 8a5078 o Dot Sbarwo o A S0diw B @3 Sod Su@den wdiee®
Sl Ao BOSS wrored’ Seodaddd. OP 6¥S® P Dok 38 2Nwo %da}uu :'35:';%
) ﬁﬁjﬁ‘o‘&mﬁc:ﬁi&. ‘O Dodad) aopd@rs &¥%® 20 cm 20As STred Body SYoo
edrdo Bob wETE will wdhiy ). eddrdo 200S Jowd, DgR (BagTe Boldo
SwE), ﬂ;.‘é@u-‘éu Sobodn Ao SHdm

A

Options:
1 20 em. 15 ms!

10 cm. 15 ms™!

q



15 cm. 10 ms™!

15 cm. 20 ms!
4

Question Number : 89 Question Id : 1874634889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A 13 m ladder 1s placed against a smooth vertical wall with its lower end at a distance 5 m
from the wall. The minimum coefficient of friction between the ladder and the floor so that
the ladder remains in equilibrium is nearly

a8 o0 Jend A8 13 mPFEY do AW T §ob FE, 8 Sod 5 m drdos”
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Two blocks of masses 2 kg and 3 kg are attached with massless string passing over a fixed
trictionless pulley as shown in the figure. When released. the velocity of the centre of mass of
the system of two blocks after 1.5 seconds 1s

(Acceleration due to gravity = 10 ms™

DL0g® Srbd ddorr 2 kg doboin 3 kg @dgrrden Ho Bod a30os dndd 28
¢hydockore 3OS Trdod Lo, 5085 1.5 DEP S0E Bok B3I BgHY DY,
ESgome Sold Iio

(o828 Sedo = 10 ms™)

2k [

3ke

Options:

0.8 ms~! upward

1 0.8 mg! » b

o]

0.6 ms upward

0.6 ms~! 2 &7e5*

[ .

0.6 ms~! downward

0.6 ms!8cd &¥s°

0.8 ms™! downward

, 08 ms ! §ob &7
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A block of mass 1 kg tied to a long spring of spring constant 100 Nm ™ is at rest on a
horizontal frictionless surface. The block 1s pulled through a distance 5 cm from its
equilibrium position and released. Then the total energy of the block when it is at a distance
4 cm from the equilibrium position is
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A number of planets are revolving around the Sun. Time period is ‘T and average orbital
radius of a planet 1s ‘R’. A graph 1s drawn between log T on the Y-axis and log R on the
X-axis with the origin at (0. 0). The graphis a

w38 Tten RorGag wotar @dsrbdbano. SEgads Tosw T Hoboin (fidro By,
Sifew g7y argrdiion ‘R 1og TO Y-wgdnpd, log RO X-wgdond &5 (0. 0) Sore
DotoPmr e Hhieh. @ [T

Options:
3 . il
Straight line with slope - and passing through the origin
3 !
T o ), Sore Doy Mod Fdoy) HEE0P



3 ; i
Straight line with slope — and not passing through the origin

—

3
Jren 5 &J), doro Dohy Hom FI J6¢0p

Parabola

DTS5

Ellipse
6 Sygo
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Awire 1s suspended vertically from a rigid support. When loaded with a body in air. the wire
extends by 6 mm and when the body is immersed completely in water. the extension is
reduced to 4 mm. The relative density of material of the body 1s
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In a barometer. the mercury level 1s 76 cm at sea level. On a hill of height 3 km. 1f the ratio
of density of Hg to that of air is 10%, the atmospheric pressure on the hill is

29085 &So%u 3‘335 e rSandes” FEES i%m 76 cm Hod. 3 km IR S® Ho w8 FodD,
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FECSY Todd, Mo Foddn WG 10* wans Fodp dreddm wdSBm,
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Question Number : 95 Question Id : 1874634895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two metal slabs of equal lengths. equal cross sectional areas and having resistances in
the ratio 1 : 2 are connected first in series and then in parallel separately. The ratio of their
effective conductivities 1s
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Question Number : 96 Question Id : 1874634896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ends of a uniform metal rod of length 100 cm and area of cross-section 2 cm’ are
maintained at 0 °C and 100 °C. At the mid point of the rod. heat is supplied at a constant
rate of 40 Js~1. If the temperature gradient on the higher temperature side of the rod
in steady state is 50x °Cm™L. then the value of x is

(Thermal conductivity of the metal = 400 Js~ m1 K1)
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The workdone on the system in changing the state of a gas adiabatically from equilibrium
state A to equilibrium state B 1s 32.4 J. If the gas is taken from state A to B through another
process in which the net heat absorbed by the system is 13.5 cal. then the net workdone by
the system in the later case 1s

(1cal=4.217)
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Question Number : 98 Question Id : 1874634898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A given mass of gas at a pressure ‘P’ and absolute temperature ‘T’ obeys the law P o< ‘
during an adiabatic process. The adiabatic bulk modulus of the gas at a pressure ‘P’ is

P DaSH0 H0E0 K6 GPES T Ko & GH508 Ko TERY FEGE BEhS®
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The number of degrees of freedom of a gas whose specific heat capacity at constant pressure
is 33.24 Tmol 1 K1, is

(universal gas constant = 8.31 J mol 1K)

26 Do 5¢ D3R FBoggo 33.24 Tmol! K 1 aligedd of ooy g, Kdod
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A man standing far from a hill. fires a gun and hears its echo after 4 s. Later he moves
320 m from his mitial position away from the hill and fires the gun again and now he hears
the echo after 6 s. Then the velocity of the sound n air is
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Question Number : 101 Question Id : 1874634901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A whistle of frequency 540 Hz rotates along a circle of radius 2 m at an angular speed of
15 rad s!. The difference in maximum and minimum frequencies heard by a listener at
some distance and at rest with respect to the centre of the circle. 1s

(Speed of sound in air = 330 ms™)
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Match the following List-I with the List-IT

List-1 List-1I
A) Mirages I[) Semuconductor
B) Nichrome M) Natural convection
C) Germannun IT) Total internal reflection
D) Seabreeze IV) High resistivity
Bod 2breodd HEE-T S HPE-I & 2855wE0
SE -1 5e38 - 11
&5 -1
A) Qdoddrypen ) ©g a&go
B) 3= M) &S5z SodSdo
C) agjacio M) JogToedd STridio
D) J{doddsaen IV) &8 JF¢Es8c0
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A beam of light is incident on a glass slab of refractive index 1.54 in a direction as shown in
the figure. The reflected light is analysed by a polaroid prism. On rotating the polaroid

(tan 57° = 1.54)
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A solid conducting sphere of radius 20 cm is enclosed by a thin metallic shell of radius

40 cm. A charge of 40 uC is given to the inner sphere. If the metallic shell 1s earthed. then
the heat generated in the process is

20 cm mgﬁ“g:ﬁxﬁw .8 oE o8 Adan 40 cm J‘?gaﬂgu o g Sed @’*“’méﬁgéu@‘
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A particle of mass 1 kg carryving a charge of 0.01 C is able to remain at rest on a rough
inclined plane of inclination 30° when a uniform horizontal electric field of T Vm s
3

applied. Coefficient of friction is

(Acceleration due to gravity = 9.8 ms™)
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Two 1dentical rings each of radius ‘R’ are coaxially placed a distance ‘R’ apart. They carry
charges Q; and Q, respectively. If a charge ‘q ‘1s moved from the centre of one ring to the
centre of the other ring. the work done 1s
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A conducting spherical bubble of radius “r’ and thickness t (t << r) 1s charged to a potential
“V'. If it collapses to form a small spherical drop. then the potential of the drop is
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A graph drawn between current *I" and voltage *V' in a conductor is as shown in the figure.
The changes in the resistance in 15 and 3™ parts respectively
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A steady current is passing through a cylindrical conductor of radius ‘r’ placed in vacuum.
Assuming Stefan’s law of radiation. steady temperature will be proportional to
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The two ends of a non-conducting spring of force constant 50 Nm~! and unstretched length
of 2 cm are connected to the mid points of two straight parallel rods each of length 4 m.
When 100 A current 1s passed through each rod in the same direction. the work done on the
spring in mJ is
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The magnetic field normal to the plane of a coil of ‘n’ tuins and radius ‘r’ carrying a current
‘1" 1s measured on the axis of the coil at a distance “h’ (h==<r) from the centre of the coil.
This is smaller than the field at the centre by the fraction

1" g @ardro OO T7 argardo Wodin n’ dhtw o af ofdiy ol vomom,
af

8oy Soo Hod ‘h’ (h<<r) &rdo&® &ifthey wion wahdr) o8 o) 5. 28
(5] [-%] a F e

—

oo S8 @ S0 Dend o8 &850 Dend DS’

Options:
2h®

5
& o

L2

21‘2

3h3

Question Number : 112 Question 1d : 1874634912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A thin bar magnet oscillates with a time period T. If it is cut into two equal pieces along its
axis. time period of oscillation of each piece is
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Single Line Question Option : No Option Orientation : Vertical

A coil having 200 turns is placed in a magnetic field of 60 2% T with its plane perpendicular
to the magnetic field. The cross sectional area of the coil is Se? em?. The ends of the coil
are connected to 100 £ resistance. The current in the coil at t = 0.01 second 1s
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A steady current of 2A flows when an inductor of inductance 2 mH is connected to ac
source of emf 10 V. Now a capacitor of capacity 2 UF is connected in series. If the current
in the circuit 1s along the emf. the rms value of the current 1s
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A parallel plate capacitor with plate area 1 m® and plate separation 1 mm is charged at the
rate of 25 Vs~1. The dielectric between the plates has a dielectric constant 'k'. If the
displacement current through the capacitor 1s 2.21uA then the value of k' 1s nearly
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In a photoelectric effect experiment. collector plate is placed vertically above the emutter
plate. Light 1s allowed fo incident on emitter and saturation photocurrent is recorded.
Now parallel electric and magnetic fields are applied vertically downwards between the
plates. Then
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Hydrogen atom in its ground state 1s excited by means of monochromatic radiation of
energy 12.75 eV. The minimum energy of the emitted spectral lines is nearly
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Two radio active nucle1 ‘x” and “y’ mitially contain equal number of atoms. Their half-life
periods are 1 hour and 2 hours respectively. The ratio of their rates of disintegration after
2 hours from the start 1s
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The current gain of a transistor in a common emitter circuit is 25. then the ratio of emitter
current to base current 1s
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Question Number : 120 Question Id : 1874634920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : FM signal is less susceptible to noise than AM signal.

Reason (R):  FM has small operating frequency range.

WEo (A): W8 FM dosdo, AM $08do 808 8598 ST BON Gsotoood.
sdmo (R): FM 8598 @@rdd d:9ag arge 500 otuod.

Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 58050 (R) o0 Bodr $8G0ID 58050 (R) 638 (A) & 506308 D55

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) DBosw (R) o0 Sodsr $8503D 570 (R) @3b (A) § 505308 IS8 5

(A) 1s correct but (R) is not correct

(A) 5863256 w2 (R) 2003056 s
3

(A) 1s not correct but (R) 1s correct

(A) 5863056 5 570 (R) 205058

Chemistry
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1874634921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The kinetic energy of electron ejected from a metal surface is 0.70 eV. If the work

function (W) of the metal 1s 2.30 eV. the frequency of radiation falling on the metal surface
in Hzis (1eV=1.602 x 10717 ])

28 G 4O0dwo Dod Jendsbd Qw@;ﬁ f@2248 0.70 eV. wes*rdm dQaaadso (Wy)
2.30 eVeoonsd edir ¢oddoon D60 8o SRidRgo Hzeo& (1eV=1.602 x 10‘19J)
Options:

7.25 x 1067
1.
. 1.38 x 1013

1.38 x 1014
3

7.25 x 1014

Question Number : 122 Question Id : 1874634922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the ratio of radii of electron in the first excited states of He™ and Be¥ is 2:1. the energies
of electron in their corresponding excited states in J is

He”, Be? 0 3088 adsd hded Jogs BEgo agdrTe ddg 2:1 wond, Tl
b i) &3 [ w2

Do08d 3RS Yhod® Jugs IRw Jodt Shdm

Options:
SR w0 gy W

B2l 218 1"

-2

—2.18 x 107!8, _436 x 10718

_436 x 1078 2,18 x 1078

Question Number : 123 Question Id : 1874634923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following
1.  CO is an amphoteric oxide

u. As,0jis aneufral oxide

ui. Cl,O;1s an acidic oxide

.  CaO is a basic oxide

Bod T°8S® H0GN ey Kufoinn
. COeag Bgdeard @E&dﬁ

. Asy)Oza8 8L &85
-— ﬂ o

e o ol

iv. CaOwf 56 w86

Options:
| 1. 1L 111, 1V

1. 111. iv only
1. 1v only

1v, 11 only
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Atom X (in molecule 1) has electrons in 1s. 2s and 2p orbitals. Atom Y (in molecule 2) has
electrons in 1s. 2s. 2p. 3s and 3p orbitals. Atom Z (in molecule 3) has electrons in 1s. 2s.
2p. 3s. 3p. 3d and 4s orbitals. Observe the following statements

i.  Atom X canundergo sp. sp? and sp’ type of hybridisation
ii. AtomY canundergo sp’. sp°d type of hybridisation
iii. Atom Z canundergo sp’d? d%sp?. dsp?. sp’ type of hybridisation

DESrend X(ewewmd 18°) &0 1s, 2s Sobadw Zp@ﬂa@%@* JOETROITION. DEBTEI
Y (we0d 2 &%) &' 1s. 2s. 2p. 3s S00cimw 3p esf)tr¢)d” JoEgoenaryon. DTSl
Z (wed 3 &%) &2 1s. 2s. 2p, 3s. 3p. 3d Bo0080 4s wBdrd)d® JOES ©0a7)a0.
Bod 2Ny D02V

I S85reand X, sp. sp? S0bcin spd 855 H08656m0 Bodied:

i, H8Sre0d Y. sp. spid 8§95 Hosbidmo Todtieods

i, S8S8reand Z, spidi. displ. dsp2. sp’ 689 $08888ma Boditerd

HIE correct statemernts are
=0 @J & sdealicaen

Options:

| 1. i1 only

1. 111 only

1. 11. 111

Question Number : 125 Question Id : 1874634925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of electrons present in valency shell of S in SFs. H,SO4 and SCl, are respectively

SFs. HySO4 005w SCh ¢ S ™0 Jou) §6100s° &) dogae dopg Shdm

Options:
| 12.12. 6



12,12, 4

12,8, 12

12,12, 8

Question Number : 126 Question Id : 1874634926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hvdrogen. neon gas mixfure contains 0.5 g of hydrogen and 10 g of neon in a cylinder.
If pressure of the mixture of gases in the cylinder is 2.4 bar. the partial pressures of neon
and hydrogen in the mixture respectively in bar are (H=1.0;: Ne = 20.0)

E-J

§ S0 @' e, AASre S70in MESNS® 0.5 g7r@as, 10 g Joira Gonan.

5

H0¢5* &) FrainHe dEFSn aEso 2.4 bar wand, NFDINS® Jore, TIERS
g adaren S%dm bar o¢® (H=1.0: Ne =20.0)

b

o

fine

Options:

5 5 S B
1.

1.6.0.8
08.1.6

1.5,09

Question Number : 127 Question Id : 1874634927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

20 mL of 0.04M CuSQ, solution reacts completely with 20 mL of certain concentration of
KI solution. If I, thus liberated reacts completely with 20 mL of sodium thiosulphate
solution. the molarity of thiosulphate in mol L1 is

w8 APRBS mdd Ko 20 mL KI rd=od 20 mL © 0.04M CuSO4\mdeo Jron
BIgT o0, verold U8gS” Juadés I, 20mL oo aﬁﬁm;‘a@&éﬁﬁ“ JOT G8gro b,
$RrHTYE Bwwrdd mol Lleos

Options:



0.01

0.02

[

0.04

0.08

Question Number : 128 Question Id : 1874634928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The enthalpy and entropy changes for a reaction at 298 K are 400 kJ mol™. 400 T K~! mol™
respectively. If AH and AS are constant over the temperature range. the temperature at
which the reaction becomes spontaneous in K is

298 K 58 &8 w85k Jogd), Jogifees® drdyws $om 400 kI mol™, 400 J K mol™.
AH 500050 AS denden G Hd oifs” E{gdurv ﬁéﬁi&gmaﬁ &g @o&’;@iégéﬁsrﬁ:g
&S K&

Options:
i 1001

800

L2

101

500

Question Number : 129 Question Id : 1874634929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the equilibrium constant. K. for a reaction at certain temperature is > 10%, which one of
the following statements is correct?

2.8 Q0N GG S8 wE Oy ﬁ}:ﬁuﬂ‘%fﬁ Soroko K. dend > 10Pwonsd Bod a5 s
5058 DB?

Options:



The reaction hardly proceeds

f.idg 2600 §§:J;o

The products predominate over reactants at equilibrium

D8 5§ Bolrasse o8 Boiravgen Rooom Godran

-2

The reactants predominate over products at equilibrium

éfwwk@ﬁ SG Bolrasio 508 $orais e [PRooT Gotra

The equilibrium constant is less than reaction quotient

mm@ﬁé‘o@w %G‘UQG* udg AR P T o{ga‘ﬁuéﬂ EoB e::é)zl,uj

Question Number : 130 Question Id : 1874634930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Higher order ionization constants (K., . K,3) are smaller than the lower
order 1onization constant (K,;) of polyprotic acid

Reason (R):  Itis easy fo remove a H™ from a negative ion due to electrostatic forces

Ao (A): FOFIE w0 GHd |Fhrod wodEdm QT OSTL0 (K . Ky3)
©EHESro8 wokbsdm oo (K, So8 &8s eolran
580 (R): Boe0 ¥ edire o H 8¢ dvgdwore sdmon Jdodd o oo

The correct answer is
ROGN BT NN
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
1 (A) 58c3» (R) &0 Todr 58508 Hodcin (R) @36 (A) & H0838 580

Both (A) and (B) are correct but (R) 1s not the correct explanation of (A)
(A) H8osn (R) o0 Sodr 3863080 wond (R) wdd (A) 8 38808 2880 5

-



(A) 1s correct but (R) 1s not correct

(A) 585058 52 (R) $050858 5%
3

(A) 1s not correct but (R) 1s correct

(A) 3863256 & 52 (R) $0&0386
4,

Question Number : 131 Question Id : 1874634931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘What is the approximate volume (in L) of 0.02 M KMnOy solution required to completely
react with 0.5 L of 10 vol H,O; solution in acid medium?

@52 oSragoes® 0.5 L o 10 vol HyO) @dmod” oA Wdgdodbitn FIoad
0.02 M KMnOy s sodbdidrmo (L 0e7) 20ddn dod?
Options:

| 89.29

44.64

L2

4464
3

8.929
4

Question Number : 132 Question Id : 1874634932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In portland cement. the major constituents (in mol %) are

aﬁsgﬂ'"o& Dasotiet Sopg b (Ird % @¢5%)

Options:

11;_9:0 ; FE‘EDE 2 CI‘:DS
l.

ALO; . MgO . TiO,

2

Ca0 . Si0, . Al,O;
3.



ALO; , B,O; , MgO
4,

Question Number : 133 Question Id : 1874634933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sodium borohydride reacts with I, to form Nal. H, and X. When X reacts with NaH i
diethyl ether. Y 1s formed. What1s Y?

oo S EE I, & GogTod Nal. Hy Sododn Xed Dd&ﬂrﬂu&. 3 SRS Sbs”
NaH & X $d55708 Y& ﬁd&&ﬂu&. Yoo
Options:

B,Hs

1

H,BO,
1y A

NaBH,

Question Number : 134 Question 1d : 1874634934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identity the correct statements from the following

I ﬁfHe of graphite is taken as zero

ii.  In fullerene. every five carbon ring is fused to six carbon rings only

ii. CO, 1s prepared by dehydrating formic acid using cone. H,SO, at 373 K

Bod S°8E" HBGBod JH¥dmen Kofodod
L TR Qg ArHP & ooy Sdedoam
i, Pelas™ (38 o B0 Jucho sl £He Sodirods Soddo Bokidod

i, 373K 58 md HyS0, H3@rhod FO5ird) 3gd8smo maod CO, & So5rdd

Options:
| L, i
1. 111 only

L]

-



1. i1 only

1. 111 only

Question Number : 135 Question Id : 1874634935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify correct statements from the following
1.  Conventional smog is a mixture of smoke. SO; and fog
1.  Conventional smog has oxidizing nature

1. Inthe photochemical smog. the unburnt unsaturated hydrocarbons are converted into
PAN, acrolein and HCHO

iv.  Photochemical smog can be controlled by fixing catalytic converters in automobile
engines

Bod r8S" D8GBod JNdeen Kufodbod

F

oRToE A, i, SO; 8000w Dothe oFkesw

ii.  DopmoiE it ELEGES SeardSnodinod

iii. 508 Jrchsd MRS Fod Dodd wdody) TETGHow PAN. JEOS Sodoin
HCHO enmr Sodoa™ood

V. eiB3088 dioEred” @08 Sr0)d coEgedh ekl 5708 S s

Options:

1. 1L 1i1, 1V

1. 1. 111 only
111 iv only
1. i1 only
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In C and H estimation experiment. H,O and CO, formed are absorbed in A and B respectively.
AandBare

C.Hod dgood @ariod” 263 Hy0. COy eo 565 A Bod® Fimo Rodarow.
A Bew

Options:

A B
anhydrous CuSOy Ca(OH), solution
dge CuSOy Ca(OH), 20

L.

A B

anhydrous CuSOy KOH solution
: dge CuSOy KOH (& %eac
A B

anhydrous CaCl, KOH solution
Qge CaCly KOH (& &eec

A B

anhydrous CaCl, Ca(OH), solution
;Jg?.l CHCIE CH(OH)E Lﬂ'.'..'l'"f.} =78

Question Number : 137 Question Id : 1874634937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ozonolysis of alkene X gives acetone. X 1s

o) o X L& 0800oT0d NN nod. X udodd
Options:
2. 3 - dimethyl but - 2 - ene

2.3 -BBSE wrgds -2 - &5
1.



2 - Methylpropene
2 - 2086 [ D0I

but-2-ene

o

:-.‘.:d“aé.'i -2 - S

2 - Methyl but - 2 - ene

Z

2-086 e:...“géﬁ -2 - S

Question Number : 138 Question Id : 1874634938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are X and Y in the following reactions 7

Cl, /UV

i C1, / Anhydrous AICT
Xe«—1 - Benzene 2 e

500K dark, cold > Y
Bo& 8¢S X, Y en 2?
s, CHIUV c  Cly/QgoAICl
Ko e gan em T
Options:
X X
Cl Cl
'l Cl Cl @
(4§ Cl Cl1 B
Cl Cl
L
X Y
Cl Cl
i Cl Cl '8 |
Cl | | Cl @ |
Cl Cl



C1 Cl
C1
3,
X N
Cl Cl
Cl1 Cl
1 Cl Cl Cl
Cl
4

Question Number : 139 Question Id : 1874634939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An element has body-centered cubic structure with a cell edge length of 300 pm. If the
density of the element is 7.2 g cm™. the number of unit cells in 194.4g of the element is

o8 Sorofo wodBold WS Jood” 300 pm o WS woth FEIJD O/ &b,

3

Soredo rod 7.2 gom-wond 194.4g o u Swredod’ cherddl e SISk

Options:
| 20 10%
6.0 x 1024

3.0 x 102

, 10X 1024

Question Number : 140 Question Id : 1874634940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The vapour pressure of a solution of 6.0 g of non-volatile solute in 390 g of benzene at
298 K 1s 3.00 kPa. If 78 g of benzene is added to this solution the vapour pressure becomes
3.02 kPa at the same temperature. The molar mass of solute in g mol™! is

298 K 5 6.0 go wardyio @aed) 390 go BodSS® §0nh Doy @Hmo eriybhaso
3.00 kPa. & (o5e08 78 g BodSs> Eendimr, o ES 5 eriydaso 3.02kPa &

Srddod. 8 @TAso Ireord (BS503R g mol ! e¢*

Options:
i 60.8

50.4

-2

3.

b-d

21.

[ E]

Question Number : 141 Question Id : 1874634941 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
The mole fractions of benzene and toluene vapours in equilibrium with the ideal solution
of benzene in toluene at 300 K are 0.61 and 0.39 respectively. The total vapour pressure of
the solution 1s 41 mm Hg . If the vapour pressures of pure benzene and toluene at 300 K are
50 and 32 mun Hg respectively. the mole fractions of benzene and toluene in solution
respectively are
300 K358 $5038° &) Boda edd) (o°deos’ SHTPES” &) Bods, $'OS erinye
S griren $dm 0.61,0.39. rdmo Iwndo z«“éﬁ)éﬁu 41 mm Hg. 300 K58 ©& Soda,
$OSe erdyudares SHdm 50 Sodcin 32 mm Hg wond [TEwes'd Bods, &0
S griren S8INM

Options:

0:25, 0:-73
1.

0.75, 0.25
0.30 . 0.70

0.50. 0.50

Yes



Question Number : 142 Question Id : 1874634942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Solutions of CuSO,4 and AgNO; were electrolysed with a current of 1.93 amperes for

500 seconds separately. The amounts of copper and silver deposited at cathode respectively
in g are

150, . AgNO; @searoi 3% 3o 50080 e DBgbirdiem

G &
Dol °E'G SY VEJRS 57006, Deogd HdSrmrer ST g od'

0.315. 1.08

1.08. 0.315
4.

Question Number : 143 Question 1d : 1874634943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the rate constant of zero order reaction is 3.0 * 10~ Ms™. the time taken for the initial
concentration of the reactant to fall from 0.30 M to 0.03 M in seconds 1s

THGESr0EBEG Bew Poroso 3.0 x 107 Ms™ wond Eairasio wdod mEs 0.30 M
oD 0.03 M5 Herds Hinsosn Dioged®
Options:

, 90

10

k-2

60

L]
L

Question Number : 144 Question Id : 1874634944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Which one of the following methods is used to make gold sol?

FE >S5 Scsrd> DALTIE §od HGHeS® FID SHAFNRG?
Options:

Ultra faltration method

508y g HEe

Peptization method

aide D48
22 =4

Electrical disintegration method

Doy E Adotao HES

Dialysis method
BoSrdRn HES

Question Number : 145 Question Id : 1874634945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the van-Arkel method of refining Zr. the impurities (x) and the substance (v) used are
respectively

TR-u0) S HG8S Zr T¢S0 DodNHPEy odTren (¥) 0N GITEhowd lagel

(v) 0 s

Options:
.1-=(.N2 4 03) :.T=C12
l.

x=(N;.0;):v=0,

[

x=(N,,0,); =L

R { SOQ . 01) 1‘1-'212



Question Number : 146 Question Id : 1874634946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An oxoacid of P(A) on heating disproportionates to form an acid (X) and a base (Y).
Y reacts with CuSO, solution to form Cu3P; and sulphuric acid. A is a dibasic acid. A. X and
Y arerespectively

P Gng), efusrd) (A) 3V03P6 odhdrdo Bod ol wdo (X) Hdodn ¥
g0 (Y) & 260008, CuSO4@Hwod Y t5dgTod CuzPsidobain SESANEEREISRS
D5\0D08. Ae¥ Be5dd esio. A X S08ctn Y en SHdm

Options:
H;PO, . H;PO; . PH;
1.

H;PO, . H;PO, . PH;

2

H;PO; . PH; . HyPO,
3

H;PO; . H;PO, . PH;
4,

Question Number : 147 Question Id : 1874634947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Phosphorous reacts with sulphuryl chloride to form PCl; and X. Hot and concentrated
H,S0, reacts with Cu to form CuSOy. H,O and Y. Zinc sulphide reacts with oxygen to form
Zn0O and Z. Then X. Y and Z are respectively

TR, Dormydd §868° $¥gTos PClsdotain X ol J6dhd. Cud’ 3& 530050
¢ HySO4 $5gT0d CuSOy, HyO $o0cin Y ol Adydhebdo. 2ol $8)6, u§juss’
S8 08 ZnO Hdcsn Z ods Jddhid. wond X, Y Sobdin Z oo S6dm

Options:
SO, .S0,.H,S

S0,.80,.80,

1

S0,.H,S . S0,
3.



, SO;.S0,. S04

Question Number : 148 Question Id : 1874634948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following diffuses through rubber. glass and plastic?
Bod o8& D6 Sepdy, Mo Hb0asn TPbo Mom Jrgodo Bodaia?
Options:

i He

Ne

L2

Question Number : 149 Question 1d : 1874634949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which pair of elements does not exhibit multiple oxidation states?

:J 248 Darestel) Dond E.’S&*ﬁd&‘a 268280 A0 ian?
4 o
bl ()

Options:

1 Mn  Cr

Sc./7n
Fe_ Co
3

V.M
4.
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[MLg]™ is an octahedral complex. Its crystal field splitting energy (Ag) is 1.8 eV. If
same metal ion (M™) forms a tetrahedral complex with same ligands (L). then the crystal

field splitting energy (A,) of [ML4]* m eV is

[MLg]™ 2.8 esor@gd do3ho. o0 988 5@ ddad §8 (Ag) 1.8 eV. &8 &'
edlrs (M™) o3 8rob (L) o Grom@d So3d) 280, [ML4J™ $30)¢8: Hye38

Question Number : 151 Question Id : 1874634951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identity homopolymers from the following
nylon 6 orlon bakelite glyptal neoprene
I II I IV vV

Bod T8 Jerdal TFOHRbum Hgowod
IS 6 Loe BEDES HaS SIS EE
I I I IV ¥

Options:

| I OL. IV

LILV

L2

LIOLIV

ILIVV



Question Number : 152 Question Id : 1874634952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Examples of fibrous (X) and globular (Y) proteins are

i (X), e (V) @FSos soirdoen

Options:

X ¥
msulin albumin
20O @ eyl =3

1:

X X
Keratin albumin
B58a ey o

2,

X Y
Keratin thyroxine
B5°8a For 8w

3

X Y

thyroxine insulin
2, = o =
) Bor &y 20O

Question Number : 153 Question Id : 1874634953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following.

List-1 List-1I
A) Receptor I) Noradrenaline
B) Bactericidal II) Tetracycline
C) Neurotransmitter II) Protein
D) Bacteriostatic IV) Ranitidine

V) Penicillin

1Bod TER 2850w

adar -1 e -11
A) | mErgc ) &8J850a
B) Jrggdodh Jdowd ) 8greée
C) && Do ) (83
D) Jrggdess 5HoBD IV) BAB&S

V) 23508

The correct answer 1s

SO DEFT BB

Options:
(A) (B) (C) D)
I Vv I I

(A) (B) (©) (D)
I % I I

(A) (B) (©) (D)
il Y \% i

(4A) (B) (© D)
Y I I v

Question Number : 154 Question Id : 1874634954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The order of reactivity of chlorobenzene (I). 4 -nitrochlorobenzene (II). 2. 4. 6 -
trinitrochlorobenzene (III) and 2. 4 - dinitrochlorobenzene (IV) towards nucleophilic
substitution is

S8 08 (D880 S §6R0ds (), 4- WS TRods (1), 2.4.6 - B3 §TTHoER
(II) 0050 2. 4 - BISEEBoES (IV) © Soghod Eoo

Options:
M=N=1IV=>=1
M=IV=1>1

> =>IV>1

I>O>IV=>=1I

Question Number : 155 Question Id : 1874634955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are a. b. ¢ and d in the following reaction?

Bod Sdgoes” a.b. c.dod 22?

Options:
a B e d
6 2 2 3
a b e d
N I 1 2
a B g d
& 1 2



]
[ T [ 27
™
|2

ol
-3

Question Number : 156 Question Id : 1874634956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Lucas reagent 1s

OrsTw 57080 @aonb
Options:

Br,/CCl,
1

KMno, /H®

HCY/ anhydrous ZnCl,
HCY e>g ZnCl,

CsHsS0,Cl

Question Number : 157 Question Id : 1874634957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Structures of catechol (I). propiophenone (IT) and phthalaldehyde (TIT) are
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What are X, Y and Z in the following reactions ?
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Identify X in the following reaction
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What are X and Y in the following reactions?
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